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 Example 1. What is the minimum vertical
distance between the parabolas y = x% + 1
and y = x — x2?
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* Example 2. A box with an open top is to be
constructed from a square piece of cardboard,
3 ft wide, by cutting out a square from each of
the four corners and bending up the sides.
Find the largest volume that such a box can

have.
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Example 3. A farmer with 20 ft of fencing
would like to enclose a rectangular region and
then divide it into 3 pens with fencing parallel
to one side of the rectangle. What is the
Aaggest possible total arealof the 3 pens?
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 Example 4. Find the least distance between
the hyperbola\x? — y? =yand the point

(40).
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